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1 EEHgEHEH: d'=aa...a, HAhaRE%, NHEESY.
W_/

2. =¥ a=1, Hiraz0.

3. AEWISH a-”=§1n, Hipaz0, NiEwE .

4. SEFs: ®Ha>0, naIEEE, maikly .
1 m m
pma=Ya. (an =(Q/§) ={a" .
5. fe##E: #a>0, b>0, r, SEEEHEH .

(na-a=ac. (2 (ar)S =a®. (3)a-b"=(ab) .
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[EH 1]
RTFIEAME:

@ (V&) x(5) > @ (%TT 3) (—Jg)ﬁx@s.

Ans : (1) 625 » (2) ﬁlg » (3) 8

(%R 1]
SER T HIHYE 22
(1) PxFP=F.

) (B (=3 =(-27F -

(3) 22=(4)

@) 2x(=3=[7F.

Ans: (1) 11 (2) 3> (3)3 > (4) -108

[5%f%]
(1) PxFP=FxP=3'.
3

@ (I (3 =(3°=(3 (-3 =(-27) -

3) 26=(2)=(#) .

(4) 2x(-3) =(2) ><((—3)3 )3 =(4x(-27))’ =(-108)’ .

= TR B E http://122.116.208.151



ok131 f5%; p3

[siEdi 2]
K514 R
(1) 2°%2%2, ) (ﬁ+J§)°,
| . B)
@) (VB—2) x(3+2) @ ( )3 .
(2)
oy 1 P
Ansi (L) 70 (21 @)1 @)
[ )
(1) 20x22_po)_pe_1_1

74
@ (V2+3)=1.
@) (V3—2) x(V3+v2)° < (V8—2)(3+2)| =(3-2)°=1°=1 .

(4) ( 8)_2 :(( \/5)3)_2x( \/?)—3:( \/?)(45)%—3)

(=48R 2]
KRTFIEAME:

@ B2 <32 @ (—%jgx(—%j4,
=2
(~2)

Ans : (1) 11+6+2 > (2) -2 > (3) 811 » (4) 8

@) (4—7) x(4+v7)" @

€13
(1) (3+J?)2x(3—ﬁ)° :(3+J?)2 1=11+642 .
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4 +—===(~2] "=(~2)=8.
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[ %41 3]
KT R -
2
of77 o0 33 (3P4 ’ (E)B
W 22 @ a0 55 -
Ans © (1) 16 » (2) 81 » (3) 225
(4]
! 10 % 5 1.5
1) I27x @:23{23) =2 xB=283=2'=16 .
@ TF _angnar—grrozog.

2

o (dm) omm) ) (8] A&

[ 4 3]
RTFI&RAE:
3
. , (001)”x10 (1,6)7
(1) {2173 () 5o — ® |55/ -

Ans: (1) VB 2) o0 (B) 2

(%]

= TR B E http://122.116.208.151



ok131 f5%; pb5

1 711
1) {273 2[33 ><32j7 =F7=F=3 .

(0.0].)1'3 x10* (10_2 )1.3 x10P4 _ 102610402 _1)2 — 1 )

@ o T 107 100
3 3 2\ -3 3
2.5 25 5 5 4 64
(6] 4]
KTFI&HHIE:

m@ 82
(1) 92xFE, (2 ((%/5) ) O g

Ans: (1) 27 5 (2)5 - (3) 1

(GERD|
(1) 92xFB =2 P22 _3F-27

" ((%)m)? :(%)mf :( 5%3 .

g2 _(2)° _»e

(3) Zm—?ﬁ—?ﬁzl.

(4R 4]
RTFI&RMIE:
-1\ 3®
(1) 228 %228, (2) (Bﬁ] » (3) oF -

Ans : (1) 16 - (2) % ' (3) 1

G|
(1) 228 x22hB =2B32nB 2% 16
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W2
@ (3"”%} 350 _ge_1
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81\** ('8 = 25 2 4252 43
W \15) |z (0.25)™ . (2) 2.82.432.43
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€1

8195 (83 o ((3¥)F (297 (1)
o () {z) 0 (@j [@j (@j

5

YU YT G e
(2) 23.82.4322.43= 23.(23)‘2.4 (25)2 .(22)—3 —28.06. 426223

=23-245-23:23f6‘>+1=22=211 .
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JZ 2 [Z_(35F () (45)
et v (]2
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1.

(1) (a+b)f=a2+2ab+k? .
(2) a’+b*=(a+h)*—2ab .
(3) a*—b*=(a-b)(a+b) .

(1) (a+b)’ =& +3%+3a? +1° .
(2) @+b*=(a+h)(a?—ab+0?) .

(3) &b’ =(a—b)(a?+ab+0?) .
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(% 6]
®a+0, (L TFFIEK:

1) [aZ.(a?’)ZT’ @ (a+al) . (3 (a2+a?)(@*-a?).

Ans : (1) a®> (2) a®+3a+3a'+ad® (3) a'—-a*
[ 57 )

(1) [a‘z-(a‘S)Tl:(a‘z-a*i)_l=(a*3) =g 9D =8
(2 (a+a)=at+3-a*-at+3aal+(at) =at+3a+3at+a’.
(3) (a2+a2)( ) (az)z—(afz)zza“—a*‘.

U514 6]
#a#0, LA TIIER:

(1) (a—zx:—jj_s’ @ (a2-a) . 3 (a+a?)(a*-1+a*).

Ans : (1) a®> (2) a®-3a%+3-a®, (3) a+a’

(1) (a‘z xg—_s) ) =(a?xa®xa’)” =(a?)” =a9 =a° .
(a2 —a*l)3 =a°-3-a*-a'+3-a*-a? —(a*l)3 —af-3+3-a>.
(3) (a2 +a—2)(a4 —1+a*‘) :(a2 +a‘2)((a2 )2 —a2-a’ +(a‘2 )2)

=(a?)' +(a?) =a®+a® .

(&6 7]
Bala>0, Ha+a'=3, R TF&AHMHE:
(1) a+as - (2) a—a'.

Ans : (1) 18 5 (2) &/5
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[ 5z ]
(1) ¥a+a'=3miE ), &
a+3-a-at+3-a-a+as=27,

g & +a®+3(a+at)=27,
Al a®+a*=27-3x3=18 .

(2) HWr(a—at) =(a+tal) -4=F-4=5,
Fibla—at=+/5 .

[Eek 7]

S a0, a@—%ﬂ, R FFI &R

(1) a+a?> (2) a+az (3) a-a’.
Ans: (1) 6 (2) 34> (3) &2

(%]

2
(1) a+a‘l:(\/_— )+2=22+2:6.

Bl

() @+a’=(a+a’)-2=6-2=34.

SN~

2 2
(3) H & a>0, E(Ja+ij =[Ja—ij A=22+4=8, Frll

7 7
1 _ (o1 FREPW -
R+ =B ta-a (f ﬁ)(ﬁ+ﬁj P JB=D .
[ & 8]
B4 =3, RTFFI&RMME:
X1, z
1) 2 @ 4 -
Ans © (1) @%2) 33
[sehr]
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R 4 =(2) =3, ¥ 2>0, Fr2={3.
a2 _\3

2t=5=20

_ 21 _ 2 _ 2 _
§_<2X)3_(\/§)3—3\ﬁ—3\/§.

(1)

(2)

[ 8]
2X
Em%arﬁ,?Tﬂéﬁmﬁ=
(1) 92, (2) 25x3F .

ns : (1) &’(2) 5

(6% ]
2X
B e —

i 3* =5, B3 =t

(1) 92=9x92=(3)'x

3
(2) 25><33X=25><(3X)3=25><(ij =J5 .

NS
[#H1 9]
E41a%=y3+8, 23 a‘x ot
D 3+42
(F£7 ]

1 a?* =\3+/8 15 B @ =3+ 22 (J_ +1) =V2+1,

R a4X=(J?+1)2=3+2J? , a_zxle’ziﬂ: 21 .
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a3X +a—3X
aX _a—X
a?)X . aX +a—3X . aX a4X +a—2X
aa-a‘a a1’
a3X + aﬁ?)x B a4X + afz)(
aX _a—X - a2X _1
(3+2v2)+(v2-1) 3242

T E R R

i

ETEERM aEF

i

[Esk 9]

1(Lr _1 5
B4 a:§(75 +7 5), zlz(aﬁ/az—l) BI{E .

Ans - 7
G
et H
1 Y 12 2 1(_2 2
a —1:2[75 +7 5) —1:2(75 +2+7 5)_1:71(75 —2+7 5}

{t6-)

1 1 1 1
A, a+ya —1=%(75 +7?j+%(75 —775j:75

1 1
(EET=YT>1>75).

1Y 1
# (a+\/a2 —1)5 2(75j =7§5 =7 .
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(6 10]
HEREAA/NEE ARNREGRT . CHRKRERSHE 1K,
B R IR AU I Ry SR 2R #1065, RE BRI B A4 K 2R Y
2fE . BBERARKME, FrReyseEHEzE 10000006, Ri#k -
MEE, WitERESENHESE? FEHEREINEE .
(1) 10fZ - (2) 1004 - (3) 10004% - (4) 10000f% - (5) 1000004% .
Ans : (4)

[ %% ]

Py 322 =(F)? ~10°, F7 1L 1000000~32*, EIJ iy 2 st 75 2% 4 4% -

B FEE KRNI R TR A 9 10RERS , S SRR I R U4 B R AR 32 fi5,
PR I 7 i o e 494 72 10° =100004

0 IF R TE 5 (4)

(4R 10]
BRIt ANERENER R 0F AR, RMSENER
5 3E A B ERIE R K .
1) KBUERZ%, FRENERRSDOEIHTAR? (UKkERFR)
2) BABERZRWRENERLOFHTAR .
R 61 F 1% & B JE B 3 ] R 1] 2

1
Ans @ (1) 20k3 > (2) 160
[ ]

(1) SRARLSHEN B 18 HEEERIE RN r 2.
R Fo e 3 Il F A7 £33 45 2 HE S R 2R Y K £

1 1
Frelri=k, Eir=k3 . EmEfEE 20k AR .

(2) frmEE, 20-r*=80, Hir‘=4, gEr=2.
R 6 (8 F AR SR E R Ry 0- P AR, #HE

20-r8 :20-(J?)6 —160.
TR 160 AR
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1. R ERER R
@ (V2 =2-@ (V2] =~2- @ 1-(v2J =1

1

@ (V2p =426 (V3] =(3° .

Ans © (1)(4)

2. XRTH&EANE:

1

a)ﬂé’@)ﬂ%ﬁﬁ(@(waqﬂ’M)@ﬂﬁf@%ﬁf’

1

(19 1
3 —_ —_—
(5) 64><(32j .34_

&

9 [
Ans: (1) 5 (2)3 (3) 2—2’(4)8’(5)8

(%]

3 3 9
(1) 1252 = (5°)2=52 ,
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(2) 2/Px38=(3%)3x38=3%38=3 >

1

o ((JE)A] s

(4) (3_«/5)2 (3+J§)g
= [(?>—JB)(3+J5)]g :[9_5]g :(22)3 —»®_g,

1
19 J1
(5) 643 (sz .SZ

2 1 1 5 2
= (2)3 x(2°)3x(2)3=2'x2 3xB=2 =8 -
X 3X

73

Ans @ —
9

[

=iivg

FiE]

23X+23X:33+33 P+ 3 _FH_T3
2X+2_X 3+1' 33 9+1 % 9

3
[ 5z ]
242% (22> 127 1_73
X 4 IX KD =z 1+? —3
1 -1

B41a>0, az+a? =3, }:

3 3
(1) a+a’ts> (2) a2+a? .

Ans: (1) 7 (2) 18
G|

1 -1 1
(1) a+a'=(a?+a?)?—2a’xa

NFH

—32-2-75
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3 3 104 1 4
(2) a?+a?=(a?+a?)®-3(a?+a?)=3>—3x3=18-

5. B4a=(025)"°, EHIERIEE:

(1) -1<a<0: (2) O<a<05: (3) 05<a<l: (4) 1<a.
Ans : (2)

(E52]
a=0.03125 -

6. E4167=27, 603 =8l, ﬁzg—gﬂ’yﬁ.
Ans : -2

G|

4
603 =81=3* = 603= 3 ......Q2)

3
, 67 3 oy 1 3 4_
(1)—(2)3 @—T—S —§ = )—( y_
3y
= N
7 =21, %L 2
. BA - -, ZEWE,‘J{E .
Ans : \/?—3
[ 3% ]
a3x_a—3x
21y - 5
_ak-a¥_ J2-1_3-202—(2+)
a>+1 J2-1+1 2

= S A hitp://122.116.208.151



ok131 #58; pl7

_2-32_p5 o
—n

a0, H2=3¥=5=k, &

Ol

+%+ =2, BIKE{E B2

Q|-

1,1,
= 30= ka b'c =2

— k=430 -
% f(x)=a+bx", Hira baEE, NAEEE . &

f(2):17, f(4):77, f(8)=377, Al a, bEy {8 B ?

Ans : a=2 b=3

(51 ]
f(2)=a+b2"=17............ (1) >
f(4)=a+ba"=77........... 2) >
f(8)=a+b-8"=377............ (3) >

(2)— (1) = b(4"— 2" =60 = b-2"(2"— 1)=60......(4)
(3) — (2) = b(8"— 4" =300 = b-4"(2"—1)=300...(5)
(5)+(4) = 2"=5 >

RA(4) = bx5(5—1)=60 = b=3 >

A1) =>a+3x5=17=a=2-

EREXERERT, MEBE1IH&MMKE (AI¥NA
kK+1f%) , H3H#%4EH R 2000, 5H %405 B 32000 .
(1) REBKNHE .

(2) ENHEMAER K 128000, R NEV{E R {a?

Ans : (1) k=3:(2) n=6
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[ ]

= n HigaYAHE# R f(n)=ax(k+1)"

f(3)=ax(k+ 1)3:2000--------~---(A) )
f(5)=ax(k+1)°>=32000------+-- (B) »

(1) (B)=(A) = (k+1)2=16 = k+1=4 = k=3 -

(2) f(n)=ax4"=128000--------- (D) » [fii ax4°=32000------ (E)

(E)+(D) > 4"°=4=n—5=1=>n=6 -

10. /NS ERTRBKEEEETRE . BRERER UNE,
B S SR A M(t)=450(064) =3, HI

(1) KW\IS/NRREERTF RS /DER?
(2) HUNSZ LN R Uy 22 &

BB UNGBERENEE RM?
Ans : (1) 230.4 Z % » (2) 0.36

[EFE ]
(1) M(1.5)=450(0.64)15

— 450(0.8)%=450%0.512 = 230.4 ¢
(2) 3E{FE B 0.64 B ULE K 0.36 ©

11 OISR g (1) =a(1-10™ ) il 2 4 4 t 2 I T

ZEAR/INEEE (RER) , EENERARDRBEREY
HIREAHRE . MR/ NE—E R DR OEEY, WEEDEH
ID™fEEF, MEEMNHEEBREN, BE/NE=EHT DR
%/ EEF?

Ans : 183 {[&

EGER|

L(t)=a(1-10") -
L(1)=a(1—10"°)=75......... (1)
L(2)=a(1—10"2")=135......(2) >

a(1-10*)(1+10") _135

@M= "% B
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b

ull ©o
ol &~

A1) = a(l— g)—75 = a=75x5=375 -

L(3)=a(l—107%)=375x(1— (2)3) —=3(53x4%) = 3x61 =183 -
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